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(Common\__\Entrance Test for Admission into Class V
in TREIS, SC, ST & BC Welfare Residential Institutions)

Time : 2 hours | \ o Max Mark : 100

A

Instructions to Candidafes :-

L.

2.

rSNe -
Each Question carries 1 mark.
B0 BH% o Bt
The Question Paper consists of Five parts.
BTRBos’® ot grrresTon.
Part A - 25 Marks (Q. No. 1 - 25) - English
Part B - 25 Marks (Q. No. 26 - 50) - Mathematics.
Part C - 25 Marks (Q. No. 51 - 75) - Environmental Science.
Part D - 20 Marks (Q. No. 76 - 95) - Telugu (3eoi0).
Part E - 5 Marks (Q. No. 96-100) - Mental Ability.
Before you begin to answer, fill in the necessary particulars and sign on the OMR
sheet, failing which the seript will not be valued.
wareooh TPOREad Suots OMR & dsoress 2 oD, u;sscsgm HobSe woird), B30 smren
SBe Dbwso.
You are prohibited from writing your name and register number on any part of
the OMR sheet.
OMR &° 2> St md e S 836 Wopg o0 Tratosmesso.
In case, your Hall Ticket Number is not printéd on the OMR sheet, write it in
the box provided in the OMR sheet itself.
286 3365 Doz OMR &° BoBoneithp eNd & KaE° M 586 J38 Bopgss Taird,
You are prohlblted from bringing loose sheets of paper or books, written or
unwritten, printed, typed or cyclostyled into the examination hall.
ouN, HBodN, B ST .ogs?og Dobwds & wubons/HETesy wp 5856%
émb&@ﬂ'd{:\)
Choose the correct answer and darken the relevant circle in the OMR sheet with
a Blue / Black ball point pen.
BN aTrevoin Agaxes’y OMR 6% Bowcdd oy, (circle) OMR 29/5ud &
Fo00l Do T BT [Som Daxrd.
Candidates are NOT permitted to leave the Exam Hall till the last 10 minutes.
QE0S 905 SHoArAE D80 10 dsoFe WU oo B0 HE 0D BT
SoodoweiEts.
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1. The plural form of ‘goose’ is .........
(A) goose
(B) gooses
(C) geeses
(D) geese

2. Identify the silent letters in WRESTLING .
(A) WR
(B R,S
C WT
(D) E,S

3. Identify the wrongly spélt word.
(A) Croud
(B) Royal
"(C) Rescue
(D) Pouch

4. Identify the parts of speech of the underlined word.
Do it quickly.
(A) Noun
(B) Adverb
(C) Pronoun
(D) Verb
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®  Fill in the blanks in the following sentences.

5. Children like ......... sweets.
(A) a
(B) an
(C) no article
(D) the

6. Choose the correct punctuation mark to be used in the underlined part.
“What about me ........ ” cried the pancake.
(A) 1
(B .
© ,
D) ?

7. If you heat water, it .........
(A) boil
(B) boils
(C) boiled
(D) boiling

8. Based on their relation, which is a wrong pair among the following.
(A) Cat and Kitten
(B) Dog and Puppy
(C) Hen and Cock
(D) Goat and Lamb

9. The people of England are called ........
(A) The Englanders
(B) The Englandians
(C) The English
(D) The England

0L AT of ships.

(C) group
(D) cluster
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11. How many animals arethere in the following grid ?

ajlelb
f 10.|x
c|w|d
A 1
(B) 2
(C) 3
(D) 4

®  Observe the following picture and answer questions 12, 13.

12. Thebatis ......... the ball and the bicycle.
(A) on
(B) between
(C) among
(D) beside

13. Identify the wrong sentence.
(A) The children are reading a book.
(B) There is a teddy bear in the picture.
(C) There are two caps in the picture.
(D) The flower vase is on the bookshelf.

TG/BOOK-B [4]




Q. Booklet
Code B

14. ‘How ......... oil do you want ?’ asked the shopkeeper,
(A) many (B) more
(C) most ' (D) much
® Look at the following picture and answer questions 15 and 16.
_/_"'-..
4 T_?V-\ oL B Sl
It
RE= U na

\ .Ewwlp
b \ 1\.1"er||
\ 1-1|;1,1\|

ol “11.‘“]

" o e e

15. Birds ........
(A) are flying. (B) is flying.
(C) have flying. : (D) has flying.
16. Choose the correct sentence.
(A) Rain is falling. (B) It is raining.
(C) Rain falling. (D) Rain is flowing.

® Read the following passage.
While coming back from the school, Chinna went to Chacha’s shop. He wanted to
buy some bells for his puppy. Chacha showed him some beautiful tinkling bells.

Now answer the following questions (17-19).

17. Identify the opposite word of ‘ugly’ in the passage.
(A) beautiful (B) nice
(C) tinkling (D)  good

18. Chinna wanted to buy ......
(A) chocolates for himself.
(B) bells for his puppy.
(C) cake for his cat.
(D) book for his brother.

19. The word ‘tinkling’ in the passage means :
(A) shining (B)  sparkling
(C) making sounds (D)  blinking
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20. Find the odd one out.

21.

(A) Cauliflower
(B) Lily

(C) Jasmine
(D) Rose

22. Find the missing letters.
A ROPL _N _
(A) E,E, A
(B) A AE
(C) E,AE
(D) A E, A

TG/BOOK-B
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23. Choose the correct line and complete the poem.

24.

25.

Smile and laugh
Everyone’s with you
No one is near you.

(A) If meek and dull
(B) Be brave and dare
(C) Shriek and cry
(D) Be happy

Q. Booklet
Code

Read the following passage and answer questions 24 and 25.

Rani is a young girl. Every Monday, she reads storybooks with her friends.

On Tuesday, she rides a bicycle.

On Wednesday, she practices Karate. Next three days she learns music,

Which day does this picture indicate ?

(A) Monday
(B) Tuesday
(C) Wednesday
(D) Friday

Rani sings songs ....... days a week.

(A) Two

(B) Three
(C) One

(D) Four

TG/BOOK-B
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Mathematics
HedBE

26. If 15 bulbs cost T 960, what is the cost of 1 bulb ?
15 wexne 98&: T 960, @00 ¥ wedy pBE> JoB?
(A) T60
(B) T 150
(C) T64
(D) ¥ 74

27. Find out the missing digit in the number 5] |3, whose sum of the digits
is10?
5[ 13 eito Boagd’ ecle Invge 10 Hiigyseny IO &c3 DO?
(A) 5
(B) 3
) 1
(D) 2

lllj;re +‘1llige\+lsoo mll = ml/z:.8.
o : 500 20.b,

(A) 2500 ml/ 2.8,
(B) 502 ml/ 2.8,
(C) 1000 ml/ 20.5.
(D) 1500 ml/ 2.5,

28.

Space for Rough Work
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29. In the below figure, by which route Chota Bheem reaches school faster ?
308 Be08® FerhSo D T8 foom I Bmpod Solim DBoKorE?

SCHOO -
=Szl

- ROUTE 1

3 @ o8 1
ERE-E 1

~ ) TT—Routes w83

/]

—

TNS 4  ROUTE 4

(A) Route 2 (B) Route 3
(C) Routel (D) Route 4
(A) @02 (B) =063
(C) =81 (D) =4

30. [425]- [425] + [425] = [2]
(A) 425 (B) 0
(C) 1275 (D) 850

ot L0y DY N

12 24 36 48 60 |[?

(A) 84 (B) 96
(C) 66 (D) 72
Space for Rough Work
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32. In the below figure, number of Mathematics books = ......

33.

34.

Ea) Bennd® Ko VIO Doy —

w / do ‘o
S/ RS S
74]
8
= s 15, & (A) 240
=3 |54 E2|E5% (B) 241
Eg g 2 ¥ | 8 .
= 7 (C) 239
(D) 214
Total books _ g5g
oo HBTes '

Expanded form of the number 3256 is ......
3256 wo Sopy Mook, dTer LFEH?

(A) 3+2+5+6

(B) 3000+200+50+6

(C) 3000+50+6

(D) 3000+200+6

How many corners are there in the given figure ?
808 HeHeos® waree RSogpg od?

(A)
(B)
(C)
(D)

- o O O

Space for Rough Work
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35. Find the smallest three digit number formed by the digits 8, 3, 2.
8, 3, 2, woBed’ DB W edBe KIY Yops DB?
(A) 238
(B) 823
(C) 328
(D) 283

36. What is the perimeter of the given figure ?
Bl D Hes WeRSed JoB?

20 cm
5 ecm
10 cm
5 cm
20 cm
(A) 20 em
(B) 40 cm
(C) 50 cm
(D) 60 cm

Space for Rough Work
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37. Ihave 6 faces. All my faces are in the shape of a square. Who am I ?
6 VBEOBPFIE Soopnaoes SDAD T esShEH B D09

(A)  Rectangle (B) Cuboid
(C) Cube (D) Triangle
(A) &y vsoyse (B) &g owwn
(C)  Pods (D) (@gomo

38. Find the length of the pencil.
28 &P Jov?

Ll
)

]
1
'

% =
(A) 3cm (B) 5cm
(C) 4cm (D) 2cm

39. How more is ¥ 100 than ¥ 35 ?
% 35 %% T 100 dod 9

(A) T55 (B) %65
(C) T45 (D) T135
Space for Rough Work
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40. What is % of 30 ?
30 &° % P Hots JoB?
@ 3
B) 30

(o) 1
(D) 10

41. How many bananas are there in 10 dozen bananas ?
10 5831265 Q) BB Dok GolI?

(A) 10

(B) 120
(C) 12
(D) 100
Space for Rough Work
TG/BOOK-B [13]
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42. How many 2 kgs will make 10 kgs ?
A 2 &.[m. oo 500 10 3.(m.00 ePHT00?
(A) 4
(B) 5
(€ 2
D) 3

43. How many Triangles are there in the given figure ?
e (300 He0d® Iy (Bioeres KoY?

)

A

(A) 8 4%;
(B) 10 3 b
© 12 AO;
(D) 2 L

<

44. Arrange the following numbers in descending order.
BIeD Bopgeme 585 tg;s;::ﬁ‘ @Ok,

382, 283, 832, 823

(A) 832, 823, 382, 283
(B) 283, 382, 832, 823
(C) 283, 382, 823, 832
(D) 832, 823, 283, 382

Space for Rough Work
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45. How many students in class IV have a shoe,size larger than 4 from the -
given table ?
808 Besns® Penith BUNS DTBS® e er 4 5Ty D Job HobS Kotio?

E?Zc;e Number of students

== e
2 |%%
3 |2%%%% (A) 20
4 |RRR%%% (B) 13
5 |R%% © 7
6 (2222 (D) 4

46. Which alphabet can be exactly divided into two equal halves ?
&5 (308 sETrOS” O el Totk HEFD FRmesT JgIRounun?

A) @ (B) F
©) iﬁ D) }:ﬂ

47. How many days are there in February in the year 2018 ?
2018 o850, piewd Ju8° Ay e 509?

(A) 29 (B) 28

(C) 30 - (D) 31
2 Space for Rough Work
TG/BOOK-B [15]



48. What is the time shown by the clock ?
HESTSe S BHocie JoB?

(A) 12 : 00

(B)

3:00

(€ 12:15
D) 3:15

Q. Booklet
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49. Which part of the following shaded figures is —E ?
308 Besooest % S S0ty af D Hess Da?

(A)

©)

Z

2

(B)

(D)

AN
N

50. What is the digit having the greatest place value in the number 4379 ?
4379 ek Sopgd® My o Dot KOAS wcs 8?2

(A). 3 (B)
(C) 4 (D)
Space for Rough Work
TG/BOOK-B [16]



51.

52.

53.

Environmental Science

DO DegS0
%;%é gives us ........

(A) Clothes
(B) Houses
(C) Light & Heat
(D) Flowers

(A) Sodoew

(B) 3o

(C) =70 Hodakn &
(D) Do

Child helpline number is ......
PO DBENY BAE I Hoa
(A) 1098

(B) 1099

(C) 1097

(D) 1096

Wool is obtained from ...... '
(A) Animals

(B) Birds

(C) Plants

(D) Inmsects

&y a3 Bood ePoton?

(A) wmoBopes

(B) e

(©C) mgbw

(D) fessven

TG/BOOK-B (17]
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54. 1 live in water, Inevel;‘sleep, I breathe w;,tlp g;l].l,s, whoam1?
(A) Snake
(B) Fish
(C) Crab
(D) Frog
Vo NIE® A0, Ndyptis BOWHS, BNNG THO® TR, FRHE?
(A) o
(B) &
(C) s
(D) 5%

55. (‘g Arrow mark shows ....... part of the human body.

(A) Heart
(B) Lungs
(C) Stomach
(D) Liver

/b_, Sa @Pesns 1ots 5055008 D gritians BrIenao?

(B) éa?.:&&&fge:o

Q
£

(C) Soowamons

(D) =Eousns

TG/BOOK-B [18]
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56. The villages that have 100% sanitation facilities and toilets in all the
houses, will get ..... puraskar.

(A) Nirmal

(B) Padma Bhushan
(C) Olympics

(D) Arjun

100% Podol ghooy [arey e o 3%HE° LESE JEomn &od, [Essned®
SO o &oll & [PErS .......... @y ©fi500.

A) s
(B) wesgomars
(C) zeochsy

(D) @&35

87 = maintains the law and order.
(A) Police station
(B) Mandal Resource Centre
(C) Veterinary Hospital
(D) School
T8 EHbe TR Bo
(A) PG W8S
(B) wocte SHdse Soe
(C) ¥ @

(D) >owre

TG/BOOK-B [19]



58. @ This symBol represents ......

(A) School. (B)
(C) Bank. (D)
(A) S>szve (B)
(C) erpl (D)
59. Find the odd one out ......

(A) Fish

(B) Rabbit

(C) Crab

(D) Crocodile

s 308 IS 98508 Koowed.
(A) 3%

(B) %ocdew

(C) oo

(D)

w038

60.
(A) Chicken
(B) Egg and milk
(C) Junk
(D) Fruits

30T BETOT 2:e59y0%0 100 eHBoTHES. S0 DI ...

(A)
(B)
(C)
(D) Secs

TG/BOOK-B
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.....

Hospital / Medical Shop.
Postoffice.

&30

b3

@ [ Sooksw Soseese

oh
cm
20

Kiran is frequently falling sick by eating ........ food.

iiieeveies NGO DOVIAE
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61. Which part of the plant hold the soil particles firmly ?

(A) Leaf

(B) Fruit

(C) Flower

(D) Roots

05,6 O PRI Deiso MM 56380 Sotoo?
(A) =%

(B) %o

(C) Do

(D) =&

62. Osman Sagar is also known as .....
(A) Masab Tank
(B) Gandipet Tank
(C) Panagal Tank
(D) Ramappa Tank
&P PO D .o W KL oL,
(A) So>E wrob
(B) Hodoes emof
(C) onb epch
(D) oPsswy erel
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64.

(A) Solid, Liquid, Gases.
(B) Gases, Solid, Liquid.
(C) Liquid, Gases, Solid.
(D) Gases, Liquid, Solid.

(A)  H%, (5%, Tk
(B) ;oo P, (59
(C) (5%, TR, P
(D) %), (55, o

Mithali Raj is famous for ......
(A) Cricket

(B) Hockey

(C) Table tennis

(D) Chess

T OF ... S5 Bowofols Btrd

(D) 3%

TG/BOOK-B [22]
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Name the states of matter from the given figure.
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B

6. .o stands for the remembrance of the spirit of the Telangana movement

66.

67.

forever.

(A) Golkonda Fort

(B) Telangana Martyrs Statue

(C) Ashoka Pillar

(D) Qutub Minar

BOOMPEs GEER BT0D IR MY TS BIHO «.cvvvvrniens
(A) Ry

(B) Doomer wobdtoe Bpse

(C) &% Bogio

(D) HBodaowb

Expand TSREC.....d...5

(A) Telangana State Reg‘mnal Training Centre.
(B) Telangana State Research & Training Centre.
(C) Telangana State Road Transport Corporation.
(D) Telangana State and Tribal Corporation.
3R.es8.83.0. w5 ..........

(A) Boorres TR (oBok B SoEun

(B) Boomres T $05%S Sodots S5 Sosinm

(C) Beorme Ty 8% SoPew Boid

(D) Seome TF wErd are 9o

...... was the main occupation of the Harappan people.

(A) Apiculture

(B) Fish culture

(C) Floriculture

(D) Agriculture

O (BRO BOOREND .orevene
(A) SadKe povse

(B) %o »owse

(C) Py Hobse

(D) SR bwilov el

TG/BOOK-B [23]
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68. Diseases such as ..... spread by drinking contaminated water.

(A) Cholera

(B) Malaria

(C) Cancer

(D) Dengue

B4 308 TE* e Tuor Tgson TH?

(A) Zeoo

(B) o80csr

(C) =6

69. ..... is the daughter of Ganapathi Deva.
(A) Chandra Mukhi

(B) Arundhathi
(C) Bhagamathi
(D) Rudrama Devi
Kead® B Koo Do
(A) BoEund

(B) wdoesd

(C) gritnd

(D) Bossead

TG/BOOK-B [24]
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70. How many districts are there in our Telangana State ?
Do U‘E.oésb z%qge OOG «esserenssnase '

(A) 30
(B) 31
(C) 29
(D) 28
TV ik, is the biggest tribal festival celebrated at Bhupalpally-
Jayasankar district.

(A) Cheruvugattu Jatara

(B) Nagoba Jatara

(C) Kondagattu Jatara

(D) Sammakka Sarakka Jatara

ﬁJ‘b‘eﬁQ-uo‘.@éogg a?e:::éi‘ 208 ed D SOT0e Hotol
(A) Doy =B |

(B) =i eod

(C) Sotiiey wol

(D) $S0%), JoY), el

W8 ais seeds are borne on the spike.
(A) Maize
(B) Groundnut
(C) Pumpkin
(D) Custard apple
gm0 Hod? & KOAD BooK X ETUIBE ..cveveesen.
(A) 2w0%ES
(B) Puowoxn
(C) 1‘1:;&3&& ojlout)
(D) Serposes

TG/BOOK-B [25]
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73. + ‘R %&‘#& In this diagram ‘?’ represents ..... ;

(A) West
(B) East
(C) North
(D) South

+, <9 Ded® 427 N BXyR0 BrdowBo?

(A) HEss
(B) s
(C) e&dve
(D) &gese

74. Leaf is green in colour due to ..........
(A) Roots | (B) Seeds
(C) Flower (D) Chlorophyll
&5 BT Goloed SPOLTRN eveeiieeieens
(A) 2 (B) DswHe
(C) e _ (D) HBTOBHD

T~ ey office issues the caste and income certificates.
(A) MRO
(B) PHC
(C) MEO
(D) MDO
00, LTV FHRNETE BEPOS HooETEd WK ST OOSTEN Luevuerrrinen,

(A) ~.esb.t..

5
(B) LS. | s
(C) 8ozt
(D) o.&L.

TG/BOOK- [26]
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30l

76. (300 &S5eS> VoAWK STred advsted.

(1) (a) w5y

2)

(3)

S
Un
3

(4) (d) Srtoge

(A) 1-b, 2-a, 3-d, 4-¢
(B) 1-a, 2-d, 3-c, 4-b
(C) 1-d, 2-b, 3-a, 4-¢
(D) 1-, 2-d, 3-b, 4-a

77-79. e (800 S0P VO (o5 SO aTrees TPakod.
modd B SR S0 WS . wEseod’ dotar BOBTERY T o
DT, TP LQOE TSN BP0 T HETIRE. B QO T GBXD T,
DR w0 GeRy FDodto Brh FBoBe S¥o PR WwHn. Fowwod®
OB, Broctts o3 Srlol BEhoTE. Mofid Lokl Yy KRburon
BE G T SoUB. 0K SoLTPIBN0 HATERN0 BT, BINNHUOEER .58
ST, V8o, wircd, eBRTIR0, PO HeRSY iR 0N (MY TPONED
TR0, OEIHYY L0 BB & Bt FoTris.
77. JBo[Erd Hooolio W0 Ty Sutd FOomrto?
(A) Ddh s (B) (o o
(C) et o D)  5ed e
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78.

79.

81.

82.
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BTS00 BBOOBO erierrrreres S&bowre.

(A) 23 orBoduls (B) &3 orddos

(C) 8 Broed Do (D) Do TreHasls

BeRan opmos BED e sota” wi 5t A Als Bmrls BoK: eody

Kolovod.

(A) SHfosom gotiwo (B) Hafaoo Saksdsee
(C) =zyed b D) s BeSiso

Bod TS B Hold Dot SALB HBotd HLH TE Aegas?? wits TEHHL BOFY
QB0 Kgoved.

(A) (B)

(D)

oPI00 HENIR WEIHBITED.” e TEed A Ao Bie O Tedd DelNo?
(A) 2008 svo0 (B) 25&’3;’:65 S0
(C) HY&Fs sroo (D) J6 oo

Boomres BRPEPC@ O IGTEE HY TR Bgowe?
(A) e (B) &b
(C) B (D) Hemod

TG/BOOK-B (28]



83. D03 pbe ke Job KR v
D TEo8NsRy Motz Doourt>?

84.

85.

86.

87.

(A) u%amsggc
(C) SJowsrgse

S0P Bt Fak HFey S8,
Ao A% Bod) 5o S worrts.

(A) iﬁo&‘.‘oé 6&38
(C) o0 De

8od K5E%) BB wXond) KoGosod.

&G | @ gt

oS d

2| = | @

A 3
(C) e

PIN 08 ......cc....

(A) S godair Joed
(B) 36 3056Rons dowd
(C) 2536 godrgows owd
(D) 36 goak; Jowb

D082 50 BEO ceeerrreanns

(A) =59
(C) o5 %use

ux
L

TG/BOOK-B

(B)
(D)

(B)
(D)

(B)
(D)

% DoweHowoh.

(B)
(D)

(29]

g
5o WORIEEe

&a;':;:& 3@:,3
e:&'b& e

¥

Q. Booklet
Code




88.

89.

90.

91.

92.

93.

94.

95.
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he0tss O BoPEpRd Dolvaro?

(A) 11% sovge (B) 1% soree

(C) 21% so7e0 (D) 2% %oveo

6T 0 oKL e,

(A) z8S0% Ieo Jadse. (B) 35S0 3 dobse.
(C) zotoes & Sabse. (D) zBtows s Dakie.

TS PG el D BosEUes” Sogodis Bobeded?
(A) 1965 (B) 1945
(C) 1975 (D) 1955

“esugod® RolEsaotoy Brh wotosied dotoed.”
A% A% BOP08 D8 BEO ..oeeraraenens

(A) 30D (B) AdJe
(C) 262 (D) %0

B (300 St DAy sEdaior ooed AHto?

(A) 3Ry odgron (B) Sossead

(C) Fdderox | (D) ool Boepd

H5Y ©A8 5% LRIy ST BP0 e TERER Tk B Hdoted.
(A) wov (B) 2900

(C) wad D) S

5B Bios® Boomes Iy TR?
(A) 283 (B) 30
(C) 29% D) 25%

DBETH 578 womrer B VBT TTHE? 1
(A) Sound B0 oy (B) Sreoy88 Fuod
(C) e (D) o3 Tobooen

- TG/BOOK-B [30]




96.

97.

98.
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Mental Ability (3535 5 0)

Identify the shape after subtraction of the given figure.
308 Heod’ Sood “@ d S By ezt

s
B) @O
D O—t1®

Which shape is next in the series ?
308 TE® Bovg By HesH0?

£\ B [
e e

(C) @ (D) None of the given ( D&z&0)

If one hour is required to dry one shirt, what is the time required
to dry 15 shirts ?

(A) 15 hours (B) 14 hours

(C) 1 hour (D) None of the given

08 Ty, U8 &5 How Skoahe BISS 15 Tm,en etierdd Job Hsoaie Bitood?
(A) 15 Keesewo (B) 14 Hoeeo

(C) 1 Kot (D) Nbzse.
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Q. Booklet
Code

99. If BAG is coded as CBH and PEN is coded as QFO, then
INK is coded as .....

BAG 0 CBH 08050 PEN % QFO e §%6 3% INK ooy, §°€ ...
(A) JOL
(B) HMJ
(C) JOK
(D) LOJ

100. Identify the next figure in the series.

200 BHod s Bov 53y Heo

(A)

(B) ||se

(C) ofe

(D)
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